
INSTRUCTION MANUAL 
CAT-BACK SINGLE EXHAUST 

NISSAN PATHFINDER 3.0L 4WD 2DR  

PART# 12200 
 

                                                                                                                     

 

 

 

 

 

 

 

 

 

 
 

 

ITEM     PART#         QUANTITY          DESCRIPTION 

 

A 788200-2         1         SUPERFLOW MUFFLER W/FLANGE #GP-102 
B 700134                   1          2 ½” OVERAXLE TAILPIPE 

C 4130                       1          O.E HANGER 

D 500361                   1          3” STAINLESS TIP 

E      BOLT KIT FOR FLANGE 

 9537                    2          3/8” STAR WASHER 

 9535                    2          3/8” WASHER 

 5057                    2          3/8-16 NUT 

 3304                    2          3/8-16 X 1-1/2 BOLT 

    

 

 

EXHAUST EXITS ON DRIVERS SIDE 

 

 

Thank you for purchasing our GIBSON EXHAUST SYSTEM for your vehicle.  If you need 

further assistance, please do not hesitate to call our Technical Department at (800) 528-

3044, Monday-Friday, 8:00 to 5:00pm.  



EXHAUST INSTALLATION  

93 NISSAN PATHFINDER 4WD 
#12200 

 

WHEN INSTALLING THIS EXHAUST SYSTEM MAKE SURE TO USE 

PROPER SAFETY PRECAUTIONS.  USE JACK STANDS WHEN UNDER 

VEHICLE, SET PARKING BRAKE, BLOCK TIRES AND USE SAFETY 

GLASSES AND GLOVES.  DO NOT WORK WITH HOT PIPES. 

 

 

1. LAY OUT THE GIBSON EXHAUST SYSTEM ON THE FLOOR SO IT 

       LOOKS LIKE THE DRAWING.  (NOTE: DRAWING IS NOT EXACT 

       BUT FOR PLACEMENT OF PARTS ONLY.) 

 

2. REMOVE STOCK EXHAUST BEHIND CATALYTIC CONVERTER. 

      UNBOLT HANGERS, CUT OFF TAILPIPE USING A SAWZALL. 

 

3. BOLT ON MUFFLER WITH WELD ON FLANGE, (IF STOCK BOLTS 

       BREAK ON REMOVAL, YOU WILL NEED TO REPLACE WITH BOLTS 

       GIBSON PROVIDES.) 

 

4. INSTALL TAILPIPE AND SLIP IN BACK OF MUFFLER (YOU MAY 

       NEED TO LIFT REAR END OF TRUCK USING A BOTTLE JACK TO 

       MAKE INSTALLING THE TAILPIPE EASIER.) 

 

5. INSTALL REAR HANGER AND TIGHTEN ONLY AFTER EVERYTHING 

       IS IN THE RIGHT LOCATION. 

 

6. SLIP STAINLESS STEEL TIP ON AND TIGHTEN. 

 

SPECIAL NOTES 

*MAKE SURE YOU HAVE A 1” CLEARANCE ON ALL PIPES FROM ALL 

RUBBER BRAKE LINES, CHOCK BOOTS, TIRES, ETC. 
 


